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1.) At Philip’s convenient store the total cost of one medium and one large soda is $1.74. The large soda

costs $0.16 more than the medium soda. Find the cost of each soda. = 8B.79
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2.) Hank can row a boat 1 mile upstream (against the current) in 24 minutes. He can row the samkt?
distance downstream in 13 minutes. If both the rowing and current speed are constant, find Hank's —c
rowing speed and the speed of the current. "rf:;@g.,?';.ﬁ-a'f it
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Perform the indicated operation(s).

_6 - _ 7 -7 2 -4 22 -390
3)2 6 -10 2] [-1 5 13 4)2 +4[ ] _ 3
4 -7 -4| |-3 -6 19 -1 3 -5 -6 -2 -8
—ja - ‘fj | L AT vy -1y 9 b
¢ - -%) =(n -t ~ o2

3x - -4 0 -16 - 3x -1 4 1 26 0
o8 G G o v 1S )
LN ot 2(3xr) 2w (2 e

-y bxts =1b
7’

TN L R T o oV T RO s e e AR Y L e s

99)[4 PR [y 5} 2< y .
I, I =_ :j ¥ +Y = (]
201 IR St IR Y )

Scanned by CamScanner



Use Cramer's Rule to solve.

. ’s Rule to find
10.) The atomic weights of three compounds are shown. Use a linear system and Cramer
atomic weights of Carbon (C), Hydrogen (H), and Oxygen (0).
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Solve using inverse matrices.
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Solve using Gaussian elimination.
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Solve using reduced row echelon form.
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Fin the partial fraon decomposition.
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Find the partial fraction decomposmon.
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Dlv1de then ﬁnd the partlal fractlon decomposntlon
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20.) Graph the inequalities. Then find the max and min values.
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Solve using linear programming,.
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21.) A seafood restaurant owner orders at least 50 fish. He cannot use more than 30 amberjack or more than 35

flounder. Amberjack costs $4 each and flounder costs $3 each. How many of each fish should be used to
minimize his cost?
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Solve using linear programming.
occer shoes. There is a two-step manufacturing

hoes requires 2 hours of processing in step one
ocessing in step one, and 3 hours of processing

22.) A shoe manufacturer makes outdoor and indoor s
process for both kinds of shoes. Each pair of outdoor s

and 1 hour in step two. Indoor shoes require 1 hour of pr .
in step two. The company has only 40 hours of labor available for step one and 60 hours available for

step two. If outdoor shoes make a profit of $20 per pair and indoor shoes make a profit of $15 per pair,
how many pairs of each shoe should be made to maximize profit?
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Sketch each of the following:
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